
10580 KIT
KickBack-style Mud Flaps 	 Universal Application*

        KITS AVAILABLE IN: 	 ► 12”W  x  10”L 
				    ► 12”W  x  12”L 
				    ► 14”W  x  12”L 
				    ► 14”W  x  14”L

Built for big tires, and even bigger protection, providing the 
perfect clearance right where you need it.

L6588_REV1_04.15.2024 ECN 1-2743* See application guide for proper fitment.



KickBack-Style Mud Flaps Kit - Universal L6588

2

Thank you and congratulations on the purchase of a KickBack-style Mud Flaps Kit. Please read 
the entire manual prior to starting the installation to ensure you can complete it once started.

		               FRONT							             REAR

  KIT CONTENTS QTY PART #
A KickBack-style Flap, Rear Left 1 HP1946

B KickBack-style Flap, Rear Right 1 HP1947

C KickBack-style Flap, Front Left 1 HP1944

D KickBack-style Flap, Front Right 1 HP1945

E Screw, ¼” x 1.25” Self-Drilling 16 HP1936

REQUIRED TOOLS
• 

• 

• 

•  

Safety Glasses

Power Drill

F Size Drill Bit

3/8” Socket and Driver

KIT CONTENTS

Please make sure all the items shown in the kit contents are provided in your kit before starting the installation.

GROUND CLEARANCE
3.0 MIN
76.2 MIN

ALIGN OUTSIDE EDGE OF FLAP PAST OUTSIDE 
EDGE OF TIRE FOR MAXIMUM COVERAGE

4321

5

X

X

MARK HOLE LOCATIONS FOR SELF DRILLING SCREWS
SCREWS MUST BE INSTALLED THROUGH SHEET METAL OR 
OTHER RIGID MOUNTING SURFACE ON VEHICLE

DRILL Ø6.53 mm [F SIZE DRILL] HOLE THROUGH THE MUD 
FLAP MOUNTING BRACKET IN EACH MARKED LOCATION

DO NOT DRILL HOLES IN VEHICLE

REMOVE OEM MUD FLAPS OR MUD GUARDS IF EQUIPPED

3

X
X

INSTALLATION INSTRUCTIONS:
REMOVE OEM MUD FLAPS / MUD GUARDS AND FASTENERS IF EQUIPPED1.
REMOVE OEM FASTENERS SECURING PANELS OR TRIM IN MOUNTING LOCATION IF EQUIPPED2.
ALIGN FLAP IN WHEEL WELL IN DESIRED MOUNTING POSITION WITH BOTTOM OF MUD FLAP PARALLEL TO THE GROUND. ALIGNING 3.
OUTER EDGE OF MUD FLAP PAST OUTSIDE EDGE OF TIRE PROVIDES MAXIMUM COVERAGE
MARK OR TRANSFER LOCATIONS OF OEM FLAP MOUNTING HOLES IF APPLICABLE4.
MARK FOUR DESIRED LOCATIONS FOR SELF DRILLING SCREWS ON MUD FLAP BRACKET. SCREWS SHOULD BE EVENLY SPACED AND IN 5.
LOCATIONS WHERE THEY WILL ENGAGE WITH SHEET METAL OR OTHER SOLID MOUNTING SURFACE IN VEHICLE
DRILL HOLES THROUGH MUD FLAP BRACKET ONLY. USE Ø6.53 mm [F SIZE DRILL] IN LOCATIONS MARKED FOR SELF DRILLING SCREWS. 6.
DRILL APPLICABLE CLEARANCE HOLE SIZES IN LOCATIONS MARKED FOR OEM FASTENERS. DO NOT DRILL HOLES IN VEHILCE
PLACE FLAP WITH DRILLED HOLES BACK IN PREVIOUSLY DETERMINED POSITION IN VEHICLE7.
FASTEN MUD FLAP TO OEM MOUNTING HOLES WITH OEM FASTENERS IF APPLICABLE8.
INSTALL SELF-DRILLING SCREWS THROUGH PRE-DRILLED HOLES INTO VEHICLE. TIGHTEN UNTIL FLAP IS SNUG IN WHEEL WELL9.

3

33

MUD FLAP KIT, 12"W X 10"L

ITEM PART NUMBER DESCRIPTION QTY.
1 HP1946-12-10 KICKBACK FLAP, REAR LEFT, 12"W X 10"L 1
2 HP1947-12-10 KICKBACK FLAP, REAR RIGHT, 12"W X 10"L 1
3 HP1944-12-10 KICKBACK FLAP, FRONT LEFT, 12"W X 10"L 1
4 HP1945-12-10 KICKBACK FLAP, FRONT RIGHT, 12"W X 10"L 1

5 HP1936 SCREW, 1/4" X 1.25" SELF DRILLING 16

MUD FLAP KIT, 12"W X 12"L

ITEM PART NUMBER DESCRIPTION QTY.
1 HP1946-12-12 KICKBACK FLAP, REAR LEFT, 12"W X 12"L 1
2 HP1947-12-12 KICKBACK FLAP, REAR RIGHT, 12"W X 12"L 1
3 HP1944-12-12 KICKBACK FLAP, FRONT LEFT, 12"W X 12"L 1
4 HP1945-12-12 KICKBACK FLAP, FRONT RIGHT, 12"W X 12"L 1

5 HP1936 SCREW, 1/4" X 1.25" SELF DRILLING 16

MUD FLAP KIT, 14"W X 12"L

ITEM PART NUMBER DESCRIPTION QTY.
1 HP1946-14-12 KICKBACK FLAP, REAR LEFT, 14"W X 12"L 1
2 HP1947-14-12 KICKBACK FLAP, REAR RIGHT, 14"W X 12"L 1
3 HP1944-14-12 KICKBACK FLAP, FRONT LEFT, 14"W X 12"L 1
4 HP1945-14-12 KICKBACK FLAP, FRONT RIGHT, 14"W X 12"L 1

5 HP1936 SCREW, 1/4" X 1.25" SELF DRILLING 16

MUD FLAP KIT, 14"W X 14"L

ITEM PART NUMBER DESCRIPTION QTY.
1 HP1946-14-14 KICKBACK FLAP, REAR LEFT, 14"W X 14"L 1
2 HP1947-14-14 KICKBACK FLAP, REAR RIGHT, 14"W X 14"L 1
3 HP1944-14-14 KICKBACK FLAP, FRONT LEFT, 14"W X 14"L 1
4 HP1945-14-14 KICKBACK FLAP, FRONT RIGHT, 14"W X 14"L 1

5 HP1936 SCREW, 1/4" X 1.25" SELF DRILLING 16

1 2 3 4 5 6 7 8

A

B

C

D

E

UNAUTHORIZED DISCLOSURE, USE OR MANUFACTURE IN WHOLE OR IN PART IS PROHIBITED.
DRAWING DESIGN AND OTHER DISCLOSURES PROPERTY OF PACBRAKE CO. SURREY, B.C., CANADA

CUSTOMER PART #:

APP:CHK:DESCRIPTION:

ADD CONFIGURATION TABLES
D.M.Y.

21.04.23
ECN:

1-2743

MATERIAL:

1:15
SIZE:

INTERPRET ALL DIMENSIONS
AND TOLERANCES

PER ASME Y14.5-2009

THIRD ANGLE PROJECTION

B

SCALE: PART NAME:

CAD NO.:

1HP10580_Rev3

KICKBACK MUD FLAP SET
OF

1
SHEET

9.28 kgWEIGHT: Taylor K.APP:Snider B.ENG:D.M.Y. 18.01.23
UNLESS  OTHERWISE  SPECIFIED:

DIMENSIONS: mm

ALL DIMENSIONS FOR

REFERENCE USE ONLY

Taylor K.CHK:

ASSEMBLY

F

G

10 12119 13

72 111 4 8 105 9 1263 13

G

B

E

D

A

F

C

ENG:

Taylor K.Snider B.Swanson J.

DWG NO.:

File: S:\masterfile\Documentation\PAC-091B-DOC_Rev2.SLDDRT          Date: 23/Apr/2014

HP10580_Rev3

C D

E

E

A B

A B C D



KickBack-Style Mud Flaps Kit - Universal L6588

3

INSTALLATION INSTRUCTIONS

1 Remove OEM mud flaps / mud guards and fasteners if equipped.

2 Remove OEM fasteners securing panels or trim in mounting location.

3 Align flap in wheel well in desired mounting position with bottom of mud flap parallel to the ground (as shown in Figure 3). 

Ensure bottom of flap is at least 76.2 mm [3”] above the ground.

Aligning outer edge of mud flap past outside edge of tire provides maximum coverage. 

3

4 Mark or transfer locations of OEM flap mounting holes if applicable.

5 Mark four desired locations for self-drilling screws on mud flap bracket. (See Figure 6 on the following page for reference)

Screws should be evenly spaced and in locations where they will engage with sheet metal or other solid mounting surface 
in vehicle.



KickBack-Style Mud Flaps Kit - Universal L6588

4

6 Use F size drill in locations marked for self-drilling screws. (Reference Figure 6 below)

Drill applicable clearance hole sizes in locations marked for OEM fasteners.

PLEASE NOTE: Drill holes through mud flap bracket only.            DO NOT DRILL HOLES IN VEHICLE. 

6

7 Place flap with drilled holes back in previously determined position in vehicle.

PLEASE NOTE: Wheels may need to be removed to provide additional clearance for ease of installation.  
(If removed, please see “AFTER COMPLETING THE INSTALLATION” below)

Fasten mud flap to OEM mounting holes with OEM fasteners if applicable.

Install self-drilling screws through pre-drilled holes into rigid mounting surfaces on vehicle. 

Tighten all fasteners until flap is snug in wheel well. 

AFTER COMPLETING THE INSTALLATION
PLEASE REMEMBER: If wheels were removed for installation, install and torque fasteners to manufacturer’s 
specifications.

Re-torque all fasteners after first 500 miles of driving. 

WARRANTY
To be eligible for warranty, the owner must submit their warranty card or register online within 30 days of the purchase date.


